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Exam A 

QUESTION 1 

To write a message to a WebSphere MQ v7 queue, which of the following MQI API calls is NOT a required step of the application programming code? 

A. MQCONM 

B. MQPUT 

C. MQSET 

D. MQOPEN 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 2 

In a distributed queuing architecture, where does the local queue manager store messages until it is ready to send them to the remote queue manager? 

A. In a relational database 

B. In a remote channel queue 

C. In a remote queue definition 

D. In a transmission queue 

Correct Answer: D 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 3 

When an MQ application running on a distributed platform connects to a local queue manager, which statement is TRUE regarding security checks? 

A. The queue manager uses the operating system userid associated with the MQ application. 

B. The queue manager authenticates the MQ application using the userid and password as passed in the MQCONN call. 

C. The queue manager examines the value of the MCAUSER field. 

D. The queue manager examines the value of the SSLPEER field. 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 4 

If the solution designer wishes to ensure that subscribing MQ applications receive message from a topic even if the subscribing MQ application is disconnected from the queue manager at the time the message is published, which action is 

required? 

A. The publishing application must set the message as persistent. 

B. The subscribing application must set the message as persistent. 

C. The publishing application must set the subscription as durable. 

D. The subscribing application must set the subscription as durable. 

Correct Answer: D 
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Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 5 Which of the following statements is NOT true regarding queue 

manager clusters? 

A. Simplifies distributed queue management 

B. Requires a separately installed component 

C. Provides for workload balancing 

D. Can be dynamically joined by participating queue managers 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 6 

Which statement is TRUE regarding WebSphere MQ and message routing? 

A. WebSphere MQ will lock for a consumer name in the message description (MQMD) header. 

B. WebSphere MQ does not route based on the contents of the message body. 

C. You can write an XPATH expression to tell WebSphere MQ how to route the message to the appropriate consumer. 

D. WebSphere MQ will examine the message properties and route it to the appropriate consumer. 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 7 In order to run MQv7 on a distributed platform with earlier versions of WebSphere MQ running on the same physical server, what 

must you do? 

A. This configuration is not allowed. 

B. Install MQv7 into a different directory than previous versions. 

C. Map listeners to different ports. 

D. Both B and C. 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 8 Which of the following is NOT a valid method of administration for 

WebSphere MQ v7? 

A. WebSphere MQ Explorer 

B. Integrated Solutions Console 

C. Command-line 

D. PCF commands 
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Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 9 Which of the following MQ objects does NOT have cluster workload 

balancing attributes? 

A. Queue 

B. Topic 

C. Channel 

D. Queue manager 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 10 If an application program wishes to put messages on a queue, which resource is NOT required for an 

administrator to create? 

A. Queue 

B. Channel 

C. Queue Manager 

D. OAM Authorities 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 11 

Which statement is NOT true regarding WebSphere MQ transport for SOAP? 

A. Integrates with WebSphere MQ infrastructure 

B. Provides an alternative transport to HTTP 

C. Allows WebSphere MQ to verify the SOAP message 

D. Supports load balancing through WebSphere MQ clustering 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 12 What commands are used to start and 

stop MQ tracing? 

A. mqtrace and mqstop 

B. trace and endtrace 

C. strmqtrc and endmqtrc 
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D. traceon and traceoff 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 13 On distributed systems, to determine the access rights a user has to a WebSphere MQ object which entity most accurately describes 

where to look? 

A. Access control lists 

B. Objects authorities 

C. Objects rights 

D. Object privileges 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 14 Which of the following functions has been added to WebSphere MQ Explorer in 

WebSphere MQ v7? 

A. Rollback in-doubt transactions from the WebSphere MQ Explorer 

B. Change WebSphere MQ administrator password from the WebSphere MQ Explorer 

C. Command line interface for WebSphere MQ Explorer 

D. Create and configure WebSphere MQ JMS administered objects 

Correct Answer: D 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 15 What is the holding queue for messages that cannot be delivered to the 

destination queues? 

A. Dead-letter queue 

B. Backout queue 

C. Transmission queue 

D. Undeliverable messages are simply discarded from the system 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 16 Which of the following is NOT required for a WebSphere MQ 

Client program? 

A. A WebSphere MQ client programming API 
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B. A synchronous connection to the queue manager 

C. Queue Manager run-time code on machine where client is running 

D. A destination on a queue manager by which to put or get messages 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 17 What is the name of the command-line 

administrative interface? 

A. CLI 

B. MQE 

C. MQSC 

D. MQA 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 18 

Which of the following is NOT required to be started in order for an MQ client program to get messages from a queue? 

A. Queue Manager 

B. Queue 

C. Client Channel 

D. Listener 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 19 What is the name of the MQMD field that a message producer uses to ensure that no consumers receive a message after a message has been on a destination queue for a specified 

period of time? 

A. Timeout 

B. Expiry 

C. TimeToLive 

D. MaxAge 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 20 

Which of the following is NOT a channel connection enhancement new in WebSphere MQ v7? 
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A. MQI channel connections can be shared 

B. SSL encryption for each MQI Channel connection 

C. Read-ahead for non-persistent messages 

D. Automatic client reconnection 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 21 What authorization rights must a user have in order to retrieve messages from a queue without removing the message 

from the queue? 

A. Inquire 

B. DisplayC. Get 

D. Browse 

Correct Answer: D 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 22 If a .NET program using WebSphere MQ wishes to communicate with a Java program using WebSphere MQ, which of the 

following is NOT true? 

A. The Java program can use the WebSphere MQ classes for Java. 

B. The .NET program can use the WebSphere MQ classes for .NET. 

C. The Java program can use the WebSphere MQ classes for JMS. 

D. The .NET program can use the WebSphere MQ classes for NMS. 

Correct Answer: D 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 23 What is required for WebSphere MQ v7 to support publish-

subscribe messaging? 

A. A queue manager 

B. A publish-subscribe broker that has the same name as the queue manager 

C. A separate broker process that is associated with each queue manager 

D. A SupportPac is available to provide publish-subscribe functionality 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 24 In order to write messages to a queue what operation 

must be done first? 
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A. Connect to the queue 

B. Verify queue is empty 

C. Set the queue to read/write mode 

D. Open the queue 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 25 Which of the following is NOT a WebSphere MQ v7 

installable component? 

A. WebSphere MQ Broker 

B. WebSphere MQ Server 

C. WebSphere MQ Explorer 

D. WebSphere MQ Client 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 26 

What happens to messages that have been read (MQGET) from a queue as part of a transaction in the event of an error during the transaction? 

A. Message moved to dead-letter-queue. 

B. Message sent to error log. 

C. Message put back on queue. 

D. Nothing, message already consumed. 

Correct Answer: D 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 27 In order for a MQ program to send a message to another MQ program using a queue, which of the 

following is true? 

A. The sending program must request the receiving program’s queue name from the WebSphere MQ queue manager. 

B. The sending program, the receiving program, and WebSphere MQ must all be currently running before any of the queues can be accessed. 

C. The sending program and the receiving program must agree on which queue they will use for communicating. 

D. The sending program specifies the receiver program name in a message header by which WebSphere MQ uses to send the message to the receiver program. 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 28 Which topic string is NOT valid for a subscribing application to get all messages about fresh fruit if a topic tree exists with the following topic hierarchy: deli/fresh; deli/tinned/nuts; 

deli/tinned/meat? 
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A. deli 

B. deli/+/fruit 

C. deli/fresh/fruit 

D. deli/# 

Correct Answer: A 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 29 In what situation will you benefit from the use of multi instance 

queue managers? 

A. You would like to replace an HA coordinator 

B. You would like to your System IP address assumed at Queue Manager fail over 

C. You would like active/stand by Queue Manager fail over support 

D. You would like higher throughput with work load management of multiple instances of queues 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 30 What is the prefix for WebSphere MQ 

error messages? 

A. AMQ 

B. WMQ 

C. MQR 

D. MQE 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 31 Which of the following WebSphere MQ supported programming APIs is NOT portable to other 

messaging providers? 

A. JMS 

B. XMS 

C. Web Service 

D. Java 

Correct Answer: D 

Section: (none) 

Explanation 

Explanation/Reference: 
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